Bright, spririted

Blowin in the wind

Bob Dylan

Chorsatz Karl-Heinz Steinfeld

_ ) ¥ - =~ | .
i — e e ——z |
Tenor 1 (ey — O IO | | 1 | e e e ™ R P —
A3V, I | - 1 1 1 1 ! ] i < i !
%) I.LHow man -y roads must man walk . down be -
2How man -y  times must man look up be -
3How man -y years can a  moun tain x - ist be -
0 4 4 mf | ‘ ‘ ‘
A —1- = —] ———1— —
Tenor 2 {fn—C— — o o ] e ;:” P  ——
D ] 1 | | S
'8) I.LHow man -y roads must a  man walk _ down be -
2How man -y times must a  man look up be -
3How man -y years can a  moun tain x - ist be -
o) # 4 mf | (- ® ® ) T ) ® ) = )
Bariton g e —
\ \
l.LHow man -y roads must a  man walk . down be -
2How man -y times must a  man look up be -
3How man-y years can a  moun tain x - ist be -
4 ™ ‘ ]
O — —¥— —— | ; Eas |
Bas | — — i —— e i ——————
! i A & & [ I I [ I I [1 I |
-~ < T \ ! \ \ \ \
I.LHow man -y roads must a  man walk . down be -
2How man -y  times must man look up be -
3How man -y years can a moun tain x - ist be -
9 —— 10 1 12 13
~ () 4 - >, .
i o o H? o » e T ———
T- 1 [ fan I I I 1 I [ 1 ud [ 1 I I |
S A— i i = i i - | i = i i !
'8) 1.fore you call him a man? Yes, ' how man - y
2.fore he can see the sky? Yes, ' how man -y
3.fore it's washed to  the sea? Yes, ' how man -y
f) 4 -==- -~ | ‘ |
77— P — — - 1 — ! — ‘
T.2 {ey e o o 1 o o o P T e
o 1 | — - n —
.8) 1.fore you call him a man? Yes, ' how man -y
2.fore he can see the sky? Yes, ' how man -y
3.fore it's washed to  the sea? Yes, ' how man - y
Bar. | HL s 7 £’ @ e o 7 *
[ [ [ [ 1 [ [ [ [ [ [1 [ [ |
‘ | \
1.fore you call him a man? Yes, ' how man -y
2.fore he can see the sky? Yes, ' how man -y
3.fore it's washed to  the sea? Yes, 'n' how man - y
L S——— — — — — ‘ ‘ \
B 7 5 o o o e . J———_ J——————
< s R A | | m — oo —
1.fore you call him a man? Yes, ' how man - y
2.fore he can see the sky? Yes, m' how man -y
3.fore it's washed to  the sea? Yes, ' how man - y



T. 1

T.2

Bar.

T. 1

T.2

Bar.

Blowin in the wind

2
14 15 16 17___ 18 19
— () 4 -- = - = \ - RN Pl
D’ A - B 7] Py - [ » 7 [ [ [ [ » P [ [ ]
V 4" [ et [ ] F Py Py F F o P F Py
[ fan I I [ .
ANV \ 1 ! ] i < i ] 1 i O ! i \ =
? seas must a white  dove sail be - fore she sleeps in de sand?
ears must one man_  have be - fore he can hear peo - ple cry?
years can some peo - ple ex - ist be - fore they're al - lowed to be free?
f) & Pl ‘ ‘ ‘ P ‘ ‘ ‘ ‘
o & 7 I I I I I I I [~ I I I I I I ]
Y 4 7] P | = [ [ [ [ I = P [ [ [ [ [ [ |
[ fan [ et [ ] F & g & F F & g P &
XV I I
'8 \ \ I - . \ \ - —~  —
seas must a white  dove sail be - fore . she sleeps in de sand?
ears must__ one man__  have be - fore he can hear peo - ple cry?
years can some peo - ple ex - ist be - fore theyre al - lowed to be free?
D P —— y ———— — ——— " —— ‘
A I I I 1 = = 1 I 1 I I 1 [

[ [ [ [1 i i [ 1 [ [1 [ [ [ } } } [ |
seas must a white  dove sail be - fore . she sleeps in de sand?
ears must one man_  have be - fore he can hear peo - ple cry?
years can some peo - ple ex - ist be - fore they're al - lowed to be free?

7 O — F— I FA—— — i — I — I
hdl OO _J | P
A o = [

- i } [ i i i [ 1 i [ & /' i [ a\ 4 [ |
seas must a white  dove sail be - fore -~~~ she sleeps ™ in de sand?
ears must one man_  have be - fore he can hear peo - ple cry?
years can some peo - ple ex - ist be - fore theyre al - lowed to be free?

20 21 22 23 24

— ) 4 | | ‘
oS I o Py Py F Py [ m I I I ]

V 4% | P = P | I [ P |

[ fan 7] = | 1 I I 1 I | 1 = [ ] [~ * |

ANV — i ! ] 1 1 1 1 ! ] i @ i !

'8) _ Yes, 'n' now man -y times must  the can - non - balls fly be -
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